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Test Instructions

* Check that this question booklet has your correct
details printed on it (e5IS number, name, school
name, class). If not, write the correct information
neatly in the spaces provided.

*  You are allowed 80 minutes for this test.
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There are different types of questions:

Multiple chaice

® Each question has four possible answers. Only one
is correct.

* Use only a pencil to shade in the answer
bubble O of your choice.

* |f you make a mistake then rub out your answer
completely and shade in the bubble (3 of your
new answer.

Open response

* Wiite your answers in the spaces provided within
the test booklet.
* Do not write outside the answer spaces.
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Grade 6 Mathematics

1 Four numbers are shown on the calculator screens.

Which number is largest in value?

[~ - N
. (3]
it ;i

2 Wafa used a grid to help her solve 142 x 12

x | 100 40 [ 2

10 §1000| 400 | 20

2 200 ? 4

What number is missing on her grid?

3 Salem made this angle using sticks.

<= N

What is the approximate size of the angle?

ca 25° O 45° o 7° o 90°
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Grade 6 Mathematics

4 Sultan cut two slices from a wooden solid.

Which shape did he cut them from?

5 Aminah made this fraction model.

What fraction should be on the bottom row?

o 1
o L
2
o L
3
o 1
4

6 Whatis the valueof 7in 4572 ?

O 7 thousands

O 7hundred
O  7tens
(3 7ones

6090081853-05 % S5




Gl ) - pesludl Gall

din jgsuall e Bige cdasy 7

JSad i e ygzuall Camyg

L=l

% & | =
, = WI=
| "

590 slact bas I 5o sl

4|3 3|3 3|43 3043

434 41414 3133 4|44
4 3 31413 413
(] O o (]

JWI JSad Ja 0%y @S olllb i can 8

] L1l [ L
das Pise Olasl dan)
FLolasl casasnl A g
Ben O pye O ol O kO

3 6
6090081853-06 Eg



Grade 6 Mathematics

7 Mouza saw this pattern of stones.

Which is Mouza’s number pattern?

4 31413 3 4
4 14| 4 31313 4 14 413
4 31413 3 4
O O O a
8 Four students showed how a shape can be moved.

il T
L s +—! = :I
o | L BEEEEEEE
N R A 7
EEEREEE SEENEENENEEN EREEENEREE
Latifa Eman Mariam Shailcha

Which student used a reflection?
O Latifa O Eman O Mariam O Shaikha

L
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Grade 6 Mathematics

9 Mubarak made this pattern with matches.

g ¢ e ¢ 9
o i ) o - ]
) 8 Q © 3 ) 2
o 0 o o e
Step 1 Step 2 Step 3

The table shows the pattern.

Step 1 2 3 4
Number of matches 8 15 22 ?

How many matches would be in Step 4 of Mubarak’s pattern?

O 26 o 27 o 29

10 Amer used triangles to make a design.

70° 70°

What is the size of angle x?

[+

)
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Grade 6 Mathematics

11

What fraction of this shape is shaded?

o 1 o 2 o 2
3 3 5
12 A
A. .D
B. .C

ABCD is a rectangle with coordinates A (2, 8), B (2, 1) and C (5, 1).

What are the coordinates of D ?
O 6.8
(8.8)
(8,5)
(8,2)

000

13 Complete this equation:

085x100=| ?

0.008
0.085
8.5

0000

85

N
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Grade 6 Mathematics

14  Write the correct sign < or > in each box.

87 56
604 640
97523 95732

15 Solve this division:

50 FILS

UNITED ARAB EMIRATES

Which of these should be used to calculate how many of these stamps can be bought with 5 AED?
O 500+ 50
500 - 50
500 x 50

000

500 + 50

s
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sl - pwaludl Cuall

Azl Han o 93w oo 8,5 Juawd il 17

elag BS Jle Jasww 6 &8 Jle Jandy
Shasd gus 98 S @l
< <~ <~
CoO0 30 0
O O
(. () (-] O
oiguadl AV Jaad ol cigs 18
10, 11, 13, 16, 20, 25, ...
Thadl lin us u”,ll:Jl daxll g0 lo
35 O 31 O 30 O 26 O

2 e il Bla] 8 ss s 19
B! gl ol 3 pga JSI Bl d2ys Jame I Joazll

(FCY o5yt dy3 Jasio gaull
2 ' RN

o5l
]
els VI
usao|
dsasl
ol

SV 50 Bylioll s Jama O ey ol (5
|

ey

dsiazdl

000O

Canaadt

65090081853-14 Eg 14



Grade 6 Mathematics

17 Faisal takes one ball out of a bag without looking.

He is certain that he will get a white ball.

Which is Faisal’s bag?
< e —
O eo 0P
Qo e
O OO OO O
O
O () (- (-
18 Eman made this number pattern.
10, 11, 13, 16, 20, 25, ...
What is the next number in her pattern?
O 26 O 30 O 3 O 35

19 Emad went on a skiing holiday.

The table shows the average temperature each day for the week of his holiday.

Day Average Temperature (*C)
Sunday 2
Monday 3
Tuesday -1
Wednesday 1
Thursday -3
Friday -2
Saturday 0
What day had the coldest average temperature?
O  Tuesday
O Thursday
O  Friday
O Saturday

Y
6090081853-15 % 15
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Grade 6 Mathematics

This clock is showing a quarter to ten in the evening.

Write this time in 24-hour time;:

21 Mariam wants to solve 20 x 32

Which of the following could she use to help her find the answer?

O 10x16
O 10x64
O 100x2
O 40x64

22 Write the next two missing decimal numbers on this number line.

N
6090081853-17 % 17
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Grade 6 Mathematics

23
0.993, 0.995, 0.997, 0.999, ...

What is the next number in this pattern?

O 09999
O 0.1001
O 1001
O 1.009

24 Fatima starts to draw a square on a number plane.

y

Where should she draw the fourth dot to help her complete the square?
(1,4)
2.4
4, 1)
(4,2)

000OC
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Grade 6 Mathematics

Use the following table to answer questions 25 and 26.
This timetable shows the buses that travel between 1st Street and 7th Street.

Bus 1 Bus 2 Bus 3
1st Street 6:15 6:35 6:55
2nd Street 6:19 6:39 6:59
3rd Street 6:23 ¢ 7:03
4th Street 6:27 6:47 7:07
5th Street 6:31 6:51 7:11
6th Street 6:35 6:55 7:15
7th Street 6:39 6:59 7:19

25 Hamad gets on the bus at 1st Street at 6:55. He gets off at 7th Street.

At what time does he get off the bus?

O 6:39 a 659 QO 715 a 719

26 One of the times is missing from the timetable.

What time is missing?

27

What two shapes are the tiles used in this path?

hexagons and squares
octagons and squares

hexagons and octagons

0000

octagons and triangles

%
6090081853-21 m 21
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Grade 6 Mathematics

28 There are 14 fish in a tank.

> -
%@x&%i

é@ﬁ D,

Ahmad uses a net to catch one fish.

Which type of fish is Ahmad least likely to catch?

;} % 7.
O O (-] (-

29

What fraction of these circles is shaded?

D P
NPANY,

1
? O 1

DI O

,_.
b | =
N

30

Fatima used a rule to make this number pattern.

3,6,12, 24,48, ...

What was Fatima’s rule?
O add3
add 6

multiply by 2

000

multiply by 3
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Grade 6 Mathematics

31

Rashid drew four shapes as shown.

Which shape has the largest perimeter?
O A

00O

B
C
D

32

Latifa opened a new 200 mL bottle of shampoo.

She used some of it.

Approximately how much shampoo has she used?

O 5mL
O 25mlL
O 50mlL
O 100mL

5 /zampoo

200 ml.

—

200 mL

L

.'_'-
6090081853-25 % 25




e N e

Oluolyy = pualudl wiuall

B el JL A Jabsso] Ji5 &5 33

SA Jubatuall J&5 o3 oS

Wl g Glmsye 79 Gaaddl g2 Olsyye 6
Jaudt g Wil 69 Gaaddl g3 Silmye 7
JauYI g il ye 69 ol god Silkesye 5
Jauwl 9o Gilssyo 59 mad| 530 Dilszays 6

0000

ekl duds el e
s 7:30 debudl b Jentall domaliy Ly

takdt JJa

cSgll

pok=dl 230

17:30

Pl bl

18:30

JLI?)” CA§3

19:30

et

20:30

¢ huatiall @l zrolip 9 guobyll 048 o (s

pokall 20
oSl )
eyl cibg
IPEY

0

0 0.0

34

st dlazJl JaSi

W I7=11 g_gl.u._l_ 60 &

35

6090081853-26

Al

26



Grade 6 Mathematics

33 Rectangle A has been translated to Rectangle B.

How has Rectangle A been translated?

6 squares right and 7 squares down
7 squares right and 6 squares down

5 squares right and 6 squares down

000O

6 squares right and 5 squares down

34 Salem looked at the TV guide.

His favourite TV show starts at 7:30 pm.

Time TV guide

17:30 Science Fun

18:30 Cartoon Connection

19:30 Quiz Time

20:30 News

What is Salem’s favourite TV show?
O  Science Fun
Cartoon Connection

Quiz Time

00O

News

35 Complete this sentence:

A quarter of 60 is the same as half of

b
6080081853-27 ﬂ 27
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Grade 6 Mathematics

Use the following graph to answer questions 36 and 37.

This graph shows the afternoon temperatures for Tuesday.

Temperature on Tuesday Afternoon

30 \

Temperature 28
(°C) 2

Ipm 2Zpm 3pm 4pm 5pm 6pm 7pm 8pm

Time

36 What was the temperature at 3:00 pm?
31°C
32°C
33°C
34°C

0000

37 How many degrees did the temperature drop between 1 pm and 8 pm?

. O 4 O 6 - a 7

38 Salem puts a book in his bag.

What is the most likely mass of the book?
O 5g

500¢g

50 kg

500 kg

00O

N
6090081853-29 % 29
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Grade 6 Mathematics

39 What is 386 rounded to the nearest hundred?

0O 300
380
390
400

00O

A0 Hamad has 12 AED in 50 fils coins.

How many coins does Hamad have?

12
24
25

0000

60

A1 Wafa writes the following number pattern.

5,15, 25, ...

What will be the 5th number in this pattern?

42 Amer buys exactly 1760 g of chocolate in blocks of three differént sizes,

500g

20g

What is the smallest number of each block that he can buy?

Blocks

Number

500 g

S0¢g

20g

6090081853-31
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